April 25, 2017

Math 107
Spring 2017

Lecture 9

Sind Hwo Consecukive odd infeqevs) such
Thot [g‘ﬁ-(w\es the Swalles ‘
(36 MoY e \""\mﬂh\“‘ﬁfd one.

5 . Smo\Hes‘\Y = Lo“(ﬁes‘\' 36

3 X ®=\®+2 +36




April 25, 2017

al '\'\“\‘O\nj \e has o Pevimeter o} 126 R
Three Sides Gve theee Cons e(vKve even
tteges. Find the (et Sicle.
P =-wb
6 B 48 «@=126
X+4 X eXFY WX32=126
3x (GO
10 3x =126-6
37( = 120
x='9 x40

L(V\emr ~motion "

- .1
A B \% L'\fiw&,

Avstonce roce ('S ?QQd)

Ex: o0 ‘W\P‘\ gor 1.5 hVS
d=r-t  Jd:=%0(15) = 60

6O mules




April 25, 2017

opposcte  Aiveckion: Add)

SCA-W\Q o\(veC'\‘(oV\: Su\o\‘mc‘}'
Jowm & lse le§t and wery in OPPosTe diveckon

<" — N
Jown Lysou L4

A’%\'&\/ 2— "\VS' "(\\'_\3 WV 2"'[0 ‘VV\\‘\Q_S Qf&v‘}i
-é)°\“’\ Was c\m‘viv\g 20 ’ﬂ\.P\\ Faste Than LSt

;(/\3\ SFQ&J Sov ‘bo'\'\,\.

Qorn r Xx20 | 2 [2(x+20)
Lisas ‘ X ¢ =&?(
Lisa@ OW\P\\ € Jorm @ 7OW\PE\\

X +  2(xyW~

Q-
“ 3
290w \es (},/

2%  +2(xx20)2240 4x =200
X = 290
2% +2x 40 =240 = =5

¥ +40=240 x=50




April 25, 2017

60&& \'\eero\ Mot , wWiile Mavic. Weny South.
EOSC was &wws \S ‘W\P\\ Slower than Moty

bot had 1 hv head S
Afrer Mavia drove Sov e hrs, They Wweve
05 wales &Po\vt (;I\Aa\ Sfeeo\ Sw Bo'\"\.

Ch ] v |t .4 eSpEy
Jose k—\g) 3 |iza(xm9 0SS Wis
Moo, | 7 l S 28X 3(xag) 42x=305

x=20) Q,_’ Sx=305150 3% —4S ¥2Xx=30S

Tomeh, Do mph! S¥=350

MiKe Avove 295 mu\eS ia '\-o'\“a\\.
We dvove 1 he in T Moo UAA and

4 hve on HWY.
s S?Qea\ on WY was lO“ﬂlP\\ Saster +ime

o Fimes hus Ssbeqo\ fn e oMWA.
g‘{V\A Wis S?teol on T BwWY.
| v | £\:- 4 X +4 ($¥+10)=295

Wl X ] L L Xalbrx40 =25
Moy Jax ] g et gy sess

LV
‘-\(\'5)-\-\0:@0‘\'\0 7(:?%’5_ xX=19




April 25, 2017

A bus owd & Fruck (eff e Some vest ovew
ot the Same Hime , Yoing Same diveckon.

Tk @ 8% W\.P\\, wWhile bus @ 45 "“P»"
be Fave TN owe

| v t]=4d
Sruck / o5 t ,-— 551

Bos | 45 [ ¢ [ ust
P20 iles

P 10'&:2_0

T\‘UCK S—D ‘t;zl
SSst — "tS—t:ZO '
2 s

Howo \ovxj does 1+ Tuke

20 miles G.Far'\‘?

Rus

T have 37 Toins.
Dimes <°— Nitkely  only.

& Dimes 'S 1 move P Twite Tuckels,

How 'W\cmj of Qac\\'?_ D('“e%-\-\\\\(k&\s:?ﬂ

2x+1+ X =37
Mow much wmoney doT hawe? 3% 44 o3

2. Nels & 25 Dimes  dx =36
12 (5) +25o) x = 12.
60 Y ZSD = B\Oq\ oY 33.\0




